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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 477 59.40 | =hst | 0.00 ~ 000 1.69 8.66 st 1.00 | 6.00 ~ 5.00 59.40 | =hLS | 5.00 ~ 6.00 | 1.69 8.66
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.67 84.23 | #nS | 000 ~ 667 1.81 914 st 1.00 | 6.00 ~ 810 84.23 | =h4 | 6,00 ~ 810 1.81 914
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 761 9748 | #nS | 000 ~ 761|216 10.93 st 1.00 | .00 ~ 1010 97.48 | =hLS | 5,00 ~ 1010| 2.16 10.93
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 665 83.94 | #nRS | 000 ~ 0.00| 1.75 8.87 st 1.00 | 6.00 ~ 8.00 83.94 | =hLS | 5,00 ~ 800\ 1.756 887
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 718 91.27 | #nRS | 000 ~ 7.18| 1.95 9.84 st 1.00 | 6.00 ~ 1030 91.27 | #hLS | 5,00 ~ 1030| 1.95 9.84
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 000 ~ 727 9254 | #nWS | 000 ~ 0.00)| 1.64 8.27 st 1.00 | 6.00 ~ 9.80 92.54 | =hS | 5,00 ~ 9.80 | 1.64 827
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.42 80.81 | =St | 000 ~ 642 1.79 9.05 st 1.00 | 6.00 ~ 7.60 80.81 | =hL4\ | 5.00 ~ 760\ 1.79 9.05
P 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS - ~ — — —
s 1.00 | 0.00 ~ 475 59.20 | #nRS | 000 ~ 4.75| 1.78 9.00 st 1.00 | 6.00 ~ 5.00 59.20 | =hLS | 5.00 ~ 65.00| 1.78 9.00
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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